Geometry Notes Name___. \4@“\
1.4 Measure and Classify Angles -

- Vocabulary
Ray: has_ | endpoint and -_€xvend S infinitely in ___} direction.

Always label with ‘e _ -en PN nY - firstll

Opposite Rays Ove Collineos and. Nene. Y. Somc endpaink
*H\L\\'P\Nm on Vel ¢ S

—
A 8 [ BC & BA

Angle: a figure formed by 2 noncollinear rays with a common endpoint.

.Y
y

Sides the 2 vomye Ev  EF

Vertex he comwumen —C,Y\-é\?ﬁﬁﬂ\‘ (=

£ F
Labeled 3 ways: ' A DEE or 4FED

a) 3 letters (vertex is alway_si in the Y\mdc\ be_ )
b) 1 letter (only if _ NS oYhe &ng\—cs hanee e Sowre Meviex A
c) 1 number & 2 '

ZCFD and 2D C  are the same angle.

Can you say /BFA is the same as ZF? No - D¥hey 4€ \mung'
Nevioe F

Can you Say' ZBFA is the same as «1? L‘B’D T

Measurement ,
¢ Angles are measured in uhits called degrees

* Use aprotractor to measure angles- place the center point of the protractor over
the vertex; align the mark labeled O on the protractor with one side of the angle.

* Measure of LABC is abbreviated as mbefore an angle name, like m £LABC =72

Angle Classification o .
i‘ * Acute: if measure is greater than § )__but less than S0

‘ )
E » Right: if the measure is Q0 .

Obtuse: if the measure is greater than QQ) but less than 1RO

%——-—ﬂ e Straight: if the measure is _&




Measure each angle and classify according to the measure:

(552 ? (o 3\3m

() C0uto iank ol

More Vocabulary: -

Congruent Angles have the same ___{YYe aSwyve

According to the picture, fill in the blanks:

S
1= /2

or msl_—=— m/2
N AV d A2 +4A3= 1_Q
ms=_ 110 Mo + o A3 =R Mo N34 70°
o - lus +- AR =180 € >
ms3=___ YOS Ar= 4a®
K_/\ -
Angle Bisector

e aray that divides an angle into Q= é_S

e Tf BD bisects LABC then LABD = __ /DBC . A
andmZABD ___—  mu«DBC 3

Angle Addition PosTuIafe | b

R
o IfRisin the interior of ZPQS then £PQR +/RQS = APQS «

" S

1. E) bisects LAB& Find mzABC. 2. Given mADC =135°,.find msBDA.

8

ARBD = ACRD | AAD B Y ARDL= AADC \5
C A= IN39 | Oy W k9= (135

Ble= At \8x + 9= 135
4=% _
law= Y2l D
ARPBD =30 FO= 54° CARDRA=NE= U

& CRD= MUH -37=§]° - o
é—p‘%(-': ]\8" | A RBDBA= U3




